20217 RAE GARBRES W R (BRFEDHE) Ry —RR

YiH: BHEL RS

ZHBRA. LR BHER
£ gfﬁ Jrey BE %—;ﬁﬁ %:;.5 - %E;ﬁﬁ %IEZ.E - BHEW -
BRA |yl [BES w | [BRE wly [BRS w o |BEE[BK |
1 25 HNAER TR 62972 | 4|9 60473 (7] 6| 67568 | 3 [10
2 24 HNHEIR T 63.716 |2 11| 69.324 1|13
3 24 AR AR 69.459 | 113 68378 | 2 |11
4 22 EPAEIEE KU 65338 [1[13] 67500 | 4] 9
5 20 AR O 60.675 |67 60946 [6] 7] 65676 | 7|6
6 15 HNIEIR J T 62.770 |3 10| 65.000 8|5
7 13 AR SLI 61.486 |[5]8 60.000 [8]'5
8 13 G FHEK 58.446 1 |13
TH: SgsEs Blkd)
BHBA. LR BHER
25 gfﬁ Jrey BE %—;ﬁﬁ %:;.5 - %E;ﬁ - %lﬂli; - BHEW -
BES (el | 8BS | [ | BRG] o 88T || 4| BES | B
1 35 FYIH R P8 55811 | 2| 11| 58.851 2 [ 11| 62.500 1 |13
2 29 TN R 54.662 | 3| 10| 52.365 3 (10| 60270 [ 4 |9
3 24 FYIH R coeel 57432 | 1| 13 61487 | 2 |11
4 13 JoIN ik R 64.324 1|13
5 10 RINFHER Y sSa 60.406 3 |10
6 9 TN Tyt 54.054 [4] 9
2021)" HRE GARBRFE S U (GHERHA) BHo—RR
BiH: 60CM (RSHLH)
BIWBB. LR BHER
] - B=y gt £
#a |29 fREB WE |8 AR || @8 [ | & | A8 B[MEN | & | BH|6 [k | £K] 6|6 |0 ] 4K A
i LT B e | & i | 1 ® §i | e 4| | 4
Pix 4 4 4 4
1] 23 - R FKE 0 16641 | 1 13 0[61.91] 3 |10
2 | 20 ]| EATIRIA P of54.79] 2| 11 0 |77.16] 4 9
3| 17 G L) 0 |68.03[ 6 7 0 7869 3 | 10
41 13 TEYIT RER 0 |[77.13 5 8| o0]5888] 8 |5
51 13 bl i SEYIES 0[62.81] 1 |13
o | B #zems T o [7763] 1 | 13
71 13 RN H el FER 07262 1 13
8] 13 REEEAASR KA 0[s6.58[ 1| 13




BiH: 80CMZEH ({EREFE)

BHRS. B, BHER
H—uh B B=uh -k ERY
Hi4z B oA B BT | B Ba|s |1TE | & | Ba| LTk | & | fa |8 [T | 2R B/l [TE | sR| &/
% i1 |BFiE | & i |BE | & | fa] /% i |EiE an b A R ] i
i b i 5 5
1 36 K2 A R SR 51770 1) 13 | o | 47.87| 3 10 0 |e3.16] 1 13
2| 31 R FKEK 0 | 46.68| 2 11 0 |7057] 6 7| o|4225] 1 |13
3 31 HBE A WA 54871 41 9 | 0 |46.59 1 13 0 |e9.91| 4 9
4| 24 PRI [EpER of 4900 | 1| 13 0]43.44] 2 |11
5 20 PRI A IHSE ol 5450 4] 9 |0 |[63.19] 2 11
6 | 16 2 A1 RR 56.69] 5] 8 | 0 |5062] 5 8
7 13 VRN W 5986 7| 6 o] 5515 6 | 7
8 10 R HEYL 0]43.72] 3 |10
WHE: 80CMZEH (BULA)D
BURE BK BOER
Bk B ouh B=uh - RS
Hez Eﬁj‘ RF BF BT | 8| BB |1TE | & | Ba|B|THe | & | Ba e |TH | B Bl [TH|BK| &
i1 |wiE [ & i |mE | K i 1al /% i |mHiE v ki g ] i
v i 5 i i
1 27 PRYIERRK HATR 4 65411 8| 5 [0 [69.69] 2 11| 0]49.47] 2 |11
2 26 VRN GH I 5RO 50.13] 1 13 o] 4925 | 1| 13
3 21 IRIIGHE A 4 18087 5 8| o0[48.04] 1 |13
41 19 EYIERBR B 0 |[53.44] 2 11| o] 5928 5| 8
5 16 PRI ESIl of 3721 7| 6 0{5031] 3 |10
6 13 TRIIFRER FH 7 0] 5953 | 6 | 7 |8 |80.66| 7 6
7 11 RESMAF KA 52.05] 2 11
8 10 RESMAF VL[ 52 0 |92.03] 3 10
TWH: 1.00MZ5] (EAWE
BAIERS B BoER
Bk B b E=uh FEPYus EH
4 E{*"‘ & PSSO PN = P23 VN TR v P2 =V ) v I VN R P P =Y P P P I
i1 |wriE [ & 1 |mE | K | el /% i |mHiE i il 5
5 o 5 o o
1 23 HAG IR [ 62131 1| 13 | 4 | 69.44] 3 10
2 16 R TR 0 8440l 8 | 5] 0]60.59 2 |11
3 11 TRl W& B 0 |59.75] 2 11
4 9 REEME 528 64.671 4] 9
5 8 TRYIFH 7 2 A U X, 12159.81] 5 8
6| 8 FrEEME S 0 |7868] 5 |8
7 8 RIS AR 018084 | 5] 8
8| 8 AL EL RO 66.92| 5| 8




H:

1.00MZ 51 (BOlE)D

FUWBS LR BHER
B - B otk BEW
H4 ;’éﬁp‘ RN BF bWl Ep:id B/o|a |7 | & | B R[N | £ | B8 [T | BKR| B8 (T ER|#
i ] T |em | & Tal ® S el G| Bt | 4
4 4 4 4
1| 24 PN BRI 4 16034 2 11 66.12 | 1 13
2| 20 KA R 3k 5 0] 66.44 10 0 [9075] 3 | 10
3| 20 KA R gtk 0] 56.33 11 0 [93.69] 4 9
41 13 FREEEAR AL R 0 [7659] 1 13
51 13 PRI K AR 4 |s194 1| 13
6 11 Y F R Wi 1 [6837] 2 |11
71 11 PRI AR 75.87 | 2 11
81 9 HREEEA R TR 0] 66.64 9
2022] T RAE HARIRFRS o uh B CEAREIE P TIH ) Ry — Wk
WiH: BESELH=8 (RFHHL
BB BIR BHER
WL (BB REI HF B= Cill
BB ZW #ay BB ZW o
1 16 TR PrIT R 53. 448 2 11 52. 328 8 5
2 14 TR s 51.897 5 8 53. 448 7 6
3 13 TR RFIK 63. 621 1 13
4 13 bl lBiiive RPN 54.138 1 13
5 11 TYIER BURE) 62. 242 2 11
6 10 TR F L 60. 259 3 10
7 10 WRYIFRIK AR 53. 276 3 10
8 9 YR TR 56. 466 4 9
WiH.: b =20 (R4
BB BIR BHER
HE (BB RE HE R= Ll
BB £/ B4 B ZW o
1 13 THIER Martine 63. 707 1 13
2 11 WYIEEE |35 (Hazel) 63. 621 2 11
3 10 TYIER KM 62. 845 3 10
4 9 WYIEE  |[JTREE (Hazel) 62. 242 4 9
5 8 WYIEEE  |JTHEE (Hosea) 61. 466 5 8
6 7 IR B 60. 69 6 7
7 6 IR S (R 60. 604 7 6




2022) AR HARERIR S i gE (MRS E ) B

TiH: 60CMZ5] (HRALD

g

A
A

/)

%

BURSL Bk BoER

F—uh Euk
Ha |88 RFR BW¥
FeRiib TTHERT (421K B FeRiib 1THET |4 7S
1] i 1] o
1 20 JE oAl 4 Ekd 0 70.11 3 10 0 64.37 3 10
2 13 IR EA MRy 0 64.62 1 13
3 13 IRYNE R iR 0 71.84 1 13
4 11 M A R 0 64.57 2 11
5 11 IRYINBE R i @5 0 70.37 2 11
6 9 REEEAA R PR 0 62.91 4 9
7 9 REEMAF TNEE R 0 68.01 4 9
8 8 RIS PRI 0 60.61 5 8
BiH: 80CMZEH ({EFEE)
BURSE BIK BYEN
F—uh Euk
Ha |88 RFR BW¥
FeRiib TTHERT (421K B FeRiil 1THET |4 7S
1] i 1] o
1 24 JmE oAl WA 0 52.85 1 13 0 51.68 2 11
2 17 K&K [ 0 59.45 3 10 0 55.70 6 7
3 15 IR A1 R A e 0 60.25 6 7 0 55.01 5 8
4 13 M A fa[ 3 5 0 49.69 1 13
5 11 KREEMAF X1 K I 0 54.88 2 11
6 10 HMIER RO 0 52.40 3 10
7 9 TRYINGH hE e 0 53.42 4 9
7 9 REEEIAR PR 0 60.11 4 9
WiH: 80CMZEA (BILED
BHRS. BIK BOER
Bk Bk
Ha | B8 RFE LSS
psSiibi s AT HERT |22k B &3 THERT |8 %
1] b L1 b
1 17 RESMHER BRA 60.38 3 10 55.86 6 7
2 13 M A BA Gk 4933 1 13
2 13 IR 28 Al B 52.10 1 13
4 11 ZR2E Al T B 50.96 2 11
4 11 JTINZRIR G 57.22 2 11
6 10 IR 2 A1 25, 51.64 3 10
7 9 RESMHER e 52.90 4 9
7 9 RIEEGAAR AR 62.22 4 9




BE: 100CMZEH (E R4

BUWRS. LR. BLER

F—uh B3k
HE 8By RER wF wwa | mEH|ER | @ | ERs | man &k | @&
1] i 1] o
1 22 2R A AL 0 71.19 1 13 4 59.55 4 9
2 17 RESHE 5 7 85.20 7 6 0 74.44 2 11
2 17 A R MR 4 67.45 4 9 4 68.22 5 8
4 13 IR TR i e 0 66.80 1 13
5 11 HMN IR ik S 0 75.91 2 11
6 10 RYIH A IH5E 1 75.10 3 10
6 10 REEEA SR biEEix 1 80.00 3 10
8 8 REEEA R IR A 5 83.39 5 8
WH: 100CMZ5 (BRMbH)
BYERSR. BIK. BYHENL
Bk Bk
Ha |88 RKBA BW¥
PR iib THERT | 2R % PR iib 1T | BK B
1] i 1] i
1 19 K& TR E 8 0 65.62 4 9 0 72.96 3 10
2 14 KREEMAF AN 1 75.28 7 6 0 74.71 5 8
2 14 AL it 1k 0 69.54 5 8 0 76.99 7 6
4 13 HMFIR B2 37 oy 0 70.56 1 13
4 13 HMIEIR TR 0 63.10 1 13
6 11 HMMRR JERERL 0 72.96 2 11
6 11 HINAER Pz 0 63.38 2 11
8 10 REEEIA SR ML TR 0 64.26 3 10
WH: 115CM&S] (Rve$gN110)
BHRS . BIK BOER
F—uh Fouh
AE N ]
A el =8 AR v wEn|En | ® | Bns | Gad |2k | #@
1] b i 5
1 13 REEEM SR MR 0 65.63 1 13
2 11 REEEM SR ARt 0 68.72 2 11
3 10 REEEM SR XI55t 1 72.36 3 10
4 9 ReELM R S BME 2 73.55 4 9
WH: 120CMZ5H]
BHRS. B BOER
#e awn foem % il =3
P8 ik THER | 28R <) B34 1T |8 =B
& 45 1 5
1 26 HMFER LA L 0 68.77 1 13 0 33.87 1 13
2 21 B AR Tt B 0 71.33 2 11 0 35.87 3 10
2 21 ALl T 25 i 4 72.84 4 13 0 37.55 5 8
4 20 A 2545 4 80.66 5 14 5 44.29 7 6
5 17 RIS R 8 88.65 8 17
6 16 HOMFER [ 3 8 69.56 7 16
7 15 RIS R 6 86.60 6 15
8 12 IR 28 Al T ML TR 4 67.85 3 12




